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A¶mo½¶ R>ham¶m Om¶oJm&
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DATA ENTRY OPERATIONS
S>mQ>m E§Q´>r Am°naoeÝg

( Theory )
( {gÕmÝV )

(336)
Time : 2 Hours ] [ Maximum Marks : 40

g‘¶ … 2 KÊQ>o ] [ nyUmªH$ … 40
Note  : (i) This question paper consists of 24 questions in all.

(ii) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section—A consists of

(a) Q.Nos. 1 to 8–Multiple Choice-type questions (MCQs), Q.No. 1 to
Q.No. 7 carrying 1 mark each and Q.No. 8 carrying 2 marks. Select
and write the most appropriate option out of the options given in
each of these questions. An internal choice has been provided in
some of these questions. You have to attempt only one of the given
choices in such questions.

(b) Q.Nos. 9 to 17–Objective-type questions, Q.Nos. 9 and 10 carry 2
marks each (with 2 sub-parts of 1 mark each) and Q.Nos. 11 to 17
carry 1 mark each (An internal choice has been provided in some of
these questions. You have to attempt only one of the given choices
in such questions). Attempt these questions as per the instructions
given for each of the questions 11–17.

(v) Section—B consists of
(a) Q.Nos. 18 and 19 – Very Short Answer-type questions carrying 2

marks each to be answered in the range of 30 to 50 words.
(b) Q.Nos. 20 to 23 – Short Answer-type questions carrying 3 marks

each to be answered in the range of 50 to 80 words.
(c) Q.No. 24 – Long Answer-type question carrying 4 marks to be

answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 24 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&
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SECTION–A

IÊS>–H$

1. Process, cycle and hierarchy are the examples of
(A) autoshapes (B) smartart graphics
(C) flowchart (D) column chart 1

àmogog, gm¶H$b Am¡a hmBamH$s© BZ‘| go {H$gHo$ CXmhaU h¡§?

(A) Am°Q>moeoßg (B) ñ‘mQ>©AmQ>© J«m{’$³g

(C) âbmoMmQ>© (D) H$m°b‘ MmQ>©

(iv) IÊS>–H$
(a) àíZ g§»¶m 1 go 8 VH$ ~hþ{dH$ënr¶ àíZ h¢& àíZ g§»¶m 1 go 7 VH$ àË¶oH$ H$m 1 A§H$

h¡& àíZ g§»¶m 8 H$m 2 A§H$ h¡& BZ àíZm| Ho$ {XE JE {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën
MwZH$a CÎma Ho$ ê$n ‘| {b{IE& BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡&
Eogo àíZm| ‘| AmnH$mo Ho$db {H$gr EH$ {dH$ën H$m hr CÎma {bIZm h¡&

(b) àíZ g§»¶m 9 go 17 dñVw{Zð> àH$ma Ho$ àíZ h¡§& àíZ g§»¶m 9 Ed§ 10, 2 A§H$ dmbo h¡§&
(1 A§H$ dmbo 2 Cn-^mJm| g{hV) VWm àíZ g§»¶m 11 go 17 VH$ ‘|o àË¶oH$ H$m 2 A§H$
h¡ (BZ‘o§ go Hw$N> àíZm| ‘o§ AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& BZ àíZm| ‘| AmnH$mo Ho$db
{H$gr EH$ {dH$ën H$m hr CÎma {bIZm h¡&) {ZXo©e AZwgma àíZ g§»¶m 11 go 17 hb H$s{OE&

(v) IÊS>–I
(a) àíZ g§»¶m 18 Ed§ 19 A{V bKw CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡ {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&

(b) àíZ g§»¶m 20 go 23 bKw CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡ {OgH$m
CÎma 50 go 80 eãXm| ‘| {bIZm h¡&

(c) àíZ g§»¶m 24 XrK© CÎmar¶ àH$ma H$m àíZ h¡, {OgH$m CÎma 80 go 120 eãXm| ‘| {bIZm
h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.
g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&

(2) 15 minutes time have been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.
Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Each Excel file is a workbook which can hold many

(A) worksheets (B) cell sheets

(C) row sheets (D) column sheets 1

àË¶oH$ Eo³gob ’$mBb EH$ dH©$~wH$ h¡, {Og‘| H$B© _____ aIr Om gH$Vr h§¡&

(A) dH©$erQ²>g (B) gob erQ²>g

(C) amo erQ²>g (D) H$m°b‘ erQ²g>

3. Answer any one of the following : 1

BZ‘| go {H$gr EH$ H$m CÎma Xr{OE :

(i) What will be the value of the following function when typed in a cell?

= MAX (15, 16, 2, 5, 18, 17)

(A) 18 (B) 15

(C) 17 (D) 16

{ZåZ ’§$³eZ H$s d¡ë¶y ³¶m hmoJr, O~ Bgo gob ‘| Q>mBn {H$¶m OmEJm?

= MAX (15, 16, 2, 5, 18, 17)

(A) 18 (B) 15

(C) 17 (D) 16

(ii) Mark the correct value for the following function :

= AVERAGE (2, 3, 4, 5, 6)

(A) 4 (B) 5

(C) 3 (D) 4·5

{XE JE ’§$³eZ Ho$ {bE ghr d¡ë¶y H$mo {Mp•V H$s{OE :

= AVERAGE (2, 3, 4, 5, 6)

(A) 4 (B) 5

(C) 3 (D) 4·5
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4. Which is the default text alignment found in word documents? 1

(A) Center (B) Right

(C) Left (D) Justified

dS>© S>m°³¶y‘|Q>m| ‘| nm¶m OmZo dmbm S>r’$m°ëQ> Q>o³ñQ> EobmBZ‘|Q> BZ‘| go H$m¡Z-gm h¡?

(A) g|Q>a (B) amBQ>

(C) boâQ> (D) OñQ>r’$mBS>

5. Space bar key is used to put a

(A) gap between two words (B) hiphen between two words

(C) comma between two words (D) line between two words 1

ñnog ~ma H$s H$m à¶moJ _____ Ho$ {bE hmoVm h¡&

(A) Xmo eãXm| Ho$ ~rM ‘| J¡n N>mo‹S>Zo (B) Xmo eãXm| Ho$ ~rM EH$ hmB’$Z bJmZo

(C) Xmo eãXm| Ho$ ~rM H$m°‘m bJmZo (D) Xmo eãXm| Ho$ ~rM bmBZ bJmZo

6. Answer any one of the following : 1

BZ‘| go {H$gr EH$ H$m CÎma Xr{OE :

(i) Which chart is used to demonstrate the fluctuation with respect to the
stock market prices?

(A) Scatter chart (B) Stock chart

(C) Bar chart (D) Surface chart

ñQ>m°H$ ‘mH}$Q> H$s‘Vm| Ho$ g§X^© ‘| CVma-M‹T>md H$mo {XImZo Ho$ {bE BZ‘| go {H$g MmQ>© H$m à¶moJ
{H$¶m OmVm h¡?

(A) ñH¡$Q>a MmQ>© (B) ñQ>m°H$ MmQ>©

(C) ~ma MmQ>© (D) g’}$g MmQ>©
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(ii) Which chart is used to show comparison between individual items?

(A) Bar chart (B) Pie chart

(C) Radar chart (D) Doughnut chart

BZ‘| go {H$g MmQ>© H$m à¶moJ AbJ-AbJ AmBQ>‘m| H$s VwbZm Ho$ {bE hmoVm h¡?

(A) ~ma MmQ>© (B) nmB© MmQ>©

(C) aS>ma MmQ>© (D) S>moZQ> MmQ>©

7. Shortcut key for closing a file is

(A) Ctrl + close (B) Ctrl + C

(C) Ctrl + W (D) Ctrl + X 1

’$mBb H$mo ~§X H$aZo Ho$ {bE BZ‘| go {H$g em°Q>©H$Q> H$s H$m à¶moJ {H$¶m OmVm h¡?

(A) Ctrl + close (B) Ctrl + C

(C) Ctrl + W (D) Ctrl + X

8. In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct option out of the choices
given below in each question (attempt any two) : 1×2=2

(i) Assertion (A) : Operating system is a system software.

Reason (R) : System softwares are those programs which are
responsible for running the computer and controlling various
operations.

(A) A is true but R is false

(B) A is false but R is true

(C) Both A and R are false

(D) Both A and R are true but R is not the correct explanation of A

(E) Both A and R are true and R is the correct explanation of A
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ZrMo {XE JE àíZ ‘| Xmo H$WZ {XE JE h§¡, EH$ h¡ A[^H$WZ (A) Am¡a Xÿgam h¡ H$maU (R). àË¶oH$
àíZ Ho$ ZrMo {XE JE {dH$ënm| ‘| go ghr {dH$ën MwZ| ({H$Ýht Xmo Ho$ {bE) :

A{^H$WZ (A) : Am°naoqQ>J {gñQ>‘ EH$ {gñQ>‘ gm°âQ>do¶a h¡&

H$maU (R) : {gñQ>‘ gm°âQ>do¶g© do àmoJ«m‘ hmoVo h¢, Omo H$åß¶yQ>a H$mo g§Mm{bV H$aZo Ed§ {d{^Þ
H$m¶m] H$mo {Z¶§{ÌV H$aZo Ho$ {bE {Oå‘oXma hmoVo h¢&

(A) A ghr h¡ bo{H$Z R JbV h¡

(B) A JbV h¡ bo{H$Z R ghr h¡

(C) A Am¡a R XmoZm| hr JbV h¡§

(D) A Am¡a R XmoZm| ghr h¢ bo{H$Z R, A H$m gQ>rH$ dU©Z Zht h¡

(E) A Am¡a R XmoZm| ghr h¢ Am¡a R, A H$m gQ>rH$ dU©Z h¡

(ii) Assertion (A) : ORACLE is a generalized package user-friendly software
used for database management purpose.

Reason (R) : Generalized and customized packages are two types of
application software.

(A) Both A and R are true but R is not the correct explanation of A

(B) A is true but R is false

(C) A is false but R is true

(D) Both A and R are false

(E) Both A and R are true and R is the correct explanation of A

A{^H$WZ (A) : Am¡aoH$b EH$ OZabmBÁS> n¡Ho$O ¶yOa-’«|$S>br gm°âQ>do¶a h¡ {Ogo S>mQ>m~og ‘¡ZoO‘|Q>
Ho$ CÔoí¶ go à¶moJ {H$¶m OmVm h¡&

H$maU (R) : OZabmBÁS> Am¡a H$ñQ>‘mBÁS>>, ¶o Xmo àH$ma Ho$ EoßbrHo$eZ gm°âQ>do¶a h¡§&

(A) A Am¡a R XmoZm| ghr h¢ bo{H$Z R, A H$m gQ>rH$ dU©Z Zht h¡

(B) A ghr h¡ bo{H$Z R JbV h¡

(C) A JbV h¡ bo{H$Z R ghr h¡

(D) A Am¡a R XmoZm| JbV h¡§

(E) A Am¡a R XmoZm| ghr h¢ Am¡a R, A H$m gQ>rH$ dU©Z h¡
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(iii) Assertion (A) : Printed pages can have various types of margin
settings.

Reason (R) : Page margin can be set in two ways; using ruler and
using page setup dialog box. Other than the default margin settings,
you can set customized margins for your page.

(A) A is true but R is false

(B) A is false but R is true

(C) Both A and R are false

(D) Both A and R are true and R is the correct explanation of A

(E) Both A and R are true but R is not the correct explanation of A

A{^H$WZ (A) : {à§Q>oS> noOm| ‘| H$B© àH$ma H$s ‘m{O©Z goqQ>J hmoVr h¡&

H$maU (R) : noO ‘m{O©Z H$mo Xmo VarH$m| go goQ> {H$¶m OmVm h¡, éba H$m à¶moJ H$aHo$ Am¡a noO
goQ>An S>m¶bm°J ~m°³g Ûmam& S>r’$m°ëQ>> ‘m{O©Z goqQ>J Ho$ Abmdm, Amn AnZo noO Ho$ {bE
H$ñQ>‘mBÁS> ‘m{O©Z ^r goQ> H$a gH$Vo h¢&

(A) A ghr h¡ bo{H$Z R JbV h¡

(B) A JbV h¡ bo{H$Z R ghr h¡

(C) A Am¡a R XmoZm| JbV h¡§

(D) A Am¡a R XmoZm| ghr h¢ Am¡a R, A H$m gQ>rH$ dU©Z h¡

(E) A Am¡a R XmoZm| ghr h¢ bo{H$Z R, A H$m gQ>rH$ dU©Z Zht h¡

(iv) Assertion (A) : Bulleted lists are created in word documents.

Reason (R) : In order to draw readers’ attention to the main points of
the document, bulleted lists are added.

(A) Both A and R are false

(B) A is false but R is true

(C) A is true but R is false

(D) Both A and R are true and R is the correct explanation of A

(E) Both A and R are true but R is not the correct explanation of A
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A{^H$WZ (A) : ~wboQ>oS> {bñQ>| dS>© S>m°³¶y‘|Q> ‘| ~ZmB© OmVr h¡§&

H$maU (R) : S>m°³¶y‘|Q> Ho$ ‘w»¶ q~XþAm| na nmR>H$m| H$m Ü¶mZ AmH${f©V H$aZo Ho$ CÔoí¶ go ~wboQ>oS>
{bñQ>m| H$mo Omo‹S>m OmVm h¡&

(A) A Am¡a R XmoZm| JbV h¡§

(B) A JbV h¡ bo{H$Z R ghr h¡

(C) A ghr h¡ bo{H$Z R JbV h¡

(D) A Am¡a R XmoZm| ghr h¢ Am¡a R, A H$m gQ>rH$ dU©Z h¡

(E) A Am¡a R XmoZm| ghr h¢ bo{H$Z R, A H$m gQ>rH$ dU©Z Zht h¡

9. State True or False (any two) : 1×2=2

BZ‘| go {H$Ýht Xmo Ho$ {bE ghr ¶m JbV {bI| :

(a) Ctrl + M keys are pressed together to move the text.

Ctrl + M H$sµO H$mo EH$ gmW Q>o³ñQ> ‘yd H$aZo Ho$ {bE X~m¶m OmVm h¡&

(b) For making the text center aligned, press Ctrl + C keys.

Q>o³ñQ> H$mo g|Q>a EobmBZ H$aZo Ho$ {bE Ctrl + C H$sµO H$mo X~m¶m OmVm h¡&

(c) Pressing tab key can move the cursor to the next cell.

Q>¡~ H$s H$mo X~mZo go H$g©a AJbo gob ‘| nhþ±MVm h¡&

(d) For undoing the mistake, immediately press Ctrl + Z keys.

JbVr H$mo AZSy> H$aZo Ho$ {bE Vwa§V Ctrl + Z H$s H$mo X~mBE&
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10. Fill in the blanks (any two) : 1×2=2

{ZåZ{b{IV ‘| [aº$ ñWmZm| H$s ny{V© H$a| (H$moB© Xmo) :

(a) Shortcut key for Find and Replace command is _____.

’$mBÝS> EoÝS> [aßbog H$‘m§S> Ho$ {bE em°Q>©H$Q> H$s _____ h¡&

(b) Shortcut key for opening a file is _____.

’$mBb ImobZo Ho$ {bE em°Q>©H$Q> H$s _____ h¡&

(c) File can be saved by pressing _____ shortcut keys.

_____ em°Q>©H$Q> H$sµO H$mo X~mZo go ’$mBb god H$s Om gH$Vr h¡&

(d) For right alignment of text, select the text and then just press _____
shortcut keys.

Q>o³ñQ> Ho$ amBQ> EobmBZ‘|Q> Ho$ {bE Q>o³ñQ> H$mo M¶{ZV H$a| Am¡a {’$a _____ H$sµO H$mo X~mE±&

11. Fill in the blanks :

{aº$ ñWmZ H$s ny{V© H$a| :

(a) If you want to post PowerPoint presentation on the _____, you can save
them as webpage. 1

¶{X Amn nm°danm°B§Q> àoOoÝQ>oeZ H$mo _____ na nmoñQ> H$aZm MmhVo h¢ Vmo Amn BÝh| do~noO Ho$ ê$n
‘| god H$a gH$Vo h¢&
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Or / AWdm

(b) When you select print what : slides option in the print dialog box, then
you will find prints of full page _____ on each page.

O~ Amn qàQ> S>m¶bm°J ~m°³g ‘| qàQ> ìhmQ> : ñbmBS²>g {dH$ën MwZVo h¢ Vmo Amn àË¶oH$ noO
na ’w$b noO _____ H$m qàQ> àmá H$aVo h¢&

12. The style of writing a function is called its _____. (Fill in the blank) 1

EH$ ’§$³eZ H$mo {bIZo Ho$ ñQ>mBb H$mo BgH$m _____ H$hm OmVm h¡& ({aº$ ñWmZ H$s ny{V© H$a|)

13. When you cut or copy text, the text stored in an area of memory is called
_____. (Fill in the blank) 1

O~ ^r Amn Q>o³ñQ> H$mo H$Q> ¶m H$m°nr H$aVo h¢, ¶h Q>o³ñQ> ‘o‘moar Ho$ EH$ joÌ ‘| ñQ>moa hmo OmVm h¡
{Ogo _____ H$hVo h¢& ({aº$ ñWmZ H$s ny{V©
H$a|)

14. Answer any one of the following : 1

{ZåZ ‘| go {H$gr EH$ H$m CÎma Xr{OE :

(a) Which function key is pressed to get any type of help?

{H$g ’§$³eZ H$s H$mo X~mZo go hoën àmá hmoVr h¡?

(b) Which function key is pressed to explicitly run spelling and grammar
check facility?

{H$g ’§$³eZ H$s H$mo X~mZo go ñnoqbJ Am¡a J«m‘a M¡qH$J ’o${g{b{Q> H$m g§nmXZ ñnï>V… hmoVm h¡?

15. Which font size is best for paragraph text? 1

H$m¡Z-gm ’$m|Q> gmBO n¡amJ«m’$ Q>o³ñQ> Ho$ {bE gd©loð> ‘mZm OmVm h¡?
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16. Which feature is used to fill cells with calender months in sequence
starting from January and ending on December? 1

{H$g ’$sMa H$m à¶moJ gobm| H$mo H¡$b|S>a Ho$ ‘hrZm| go ^aZo Ho$ {bE hmoVm h¡ {Og‘| OZdar go ewê$ hmoH$a
{Xg§~a na grarO g‘má hmoVr h¡?

17. Visual representation of information and ideas is called _____ art graphics.
(Fill in the blank) 1

gyMZm Am¡a {dMmam| Ho$ Ñí¶mË‘H$ àXe©Z H$mo _____ AmQ>© J«m{’$³g H$hm OmVm h¡&
({aº$ ñWmZ H$s ny{V© H$a|)

SECTION–B

IÊS>–I

18. Explain the importance of high-level language. Give two examples of high-
level language which are used these days for programming. 2

hmB©-bodb b¢½doO Ho$ ‘hÎd H$m dU©Z H$s{OE& hmB©-bodb b¢½doO Ho$ Xmo Eogo CXmhaU Xr{OE, {OÝh|
AmOH$b àmoJ«mq‘J Ho$ {bE à¶moJ {H$¶m OmVm h¡&

Or / AWdm

What is meant by application software and what are its classification?

EoßbrHo$eZ gm°âQ>do¶a H$hZo go AmnH$m ³¶m VmËn¶© h¡? BgHo$ ^oX {b{IE&

19. (a) Name the electromechanical hand-held device used as a pointer. 1

EH$ Bbo³Q´>mo-‘¡Ho${ZH$b h¢S>-hoëS> {S>dmBg {Ogo nm°B§Q>a H$s Vah à¶moJ {H$¶m OmVm h¡ H$m¡Z-gr
hmoVr h¡?



(b) Which device is designed to produce large drawings or images? 1

{H$g {S>dmBg H$mo ~‹S>r S´>m°B§J Am¡a B‘oO ~ZmZo Ho$ {bE {S>OmBZ {H$¶m J¶m h¡?

20. Write the names of any two graphic tools and any one DBMS program. 3

{H$Ýht Xm o J«m{’$H$ Qy>ëg Am¡a {H$gr EH$ S>r0~r0E‘0Eg0 àmoJ«m‘ Ho$ Zm‘ {b{IE&

Or / AWdm

Write the names of any three types of printer.

{H$Ýht VrZ àH$ma Ho$ qàQ>am| Ho$ Zm‘ {b{IE&

21. Name three ways of creating data source in mail merge. 3

‘ob ‘O© ‘| S>mQ>m gmog© V¡¶ma H$aZo Ho$ VrZ VarH$m| Ho$ Zm‘ {b{IE&

22. Explain the steps to create a data source using an Excel worksheet. 3

Eo³gob dH©$erQ> Ho$ à¶moJ go S>mQ>m gmog© V¡¶ma H$aZo Ho$ ñQ>oßg {b{IE&

23. Expand the following (any three) : 1×3=3

{ZåZ H$m {dñV¥V ñdê$n {b{IE (H$moB© VrZ) :

(a) IP

(b) KBPS

(c) HTTP

(d) CC
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24. (a) Explain Telnet and FTP. 2

Q>obZoQ> Am¡a FTP H$m dU©Z H$s{OE&

(b) Explain organizational domains and geographical domains. 2

g§ñWmË‘H$ S>mo‘oZ Am¡a ^m¡Jmo{bH$ S>mo‘oZ H$m dU©Z H$s{OE&

Or / AWdm

What happens to a piece of data when it is transferred over the
Internet? Explain.

S>mQ>m Ho$ EH$ Qw>H$‹S>o H$mo O~ B§Q>aZoQ> na Q´>m§g’$a {H$¶m OmVm h¡ Vmo BgHo$ gmW ³¶m-³¶m K{Q>V
hmoVm h¡? dU©Z H$s{OE&




